25Ty AV

95 2% BB A 7 oo BY 3R

RYITH BN TR E

Shenzhen AntMotor Co., Ltd

WWW.ZSmYy.cc
www.mayimotor.com

R HAXRDAGAEEEXRE

¥ mayimotor@163.com

3 AR 17 £ % [ =5




KATEND

RYIITHUENERADR—REWVRHBENEFHNRZRAEBRIZNSHREVATLEREEMEN
MEERNDMFETOHHEFEER, FHRRIMAMERT RENCWERBINASTRE, BSRRAEH
K. & HESRZIN—HHNERAKEY, BRRFINFmEE: THEHN, FEREN, HE=HE
AASHBEN . L8, IXRENENEENERNRE. BEN, BEAFEF,

FmlTZNATREZ, B AR, SRETER, HARSF LATEHURETL. EHKE.
TR, BRAFERRHK,

Shenzhen ant Motor Co., Ltd. is a high-tech enterprise specializing in motion control system solutions.
Over the years, relying on excellent R & D ability and rich marketing experience, we have continuously
explored and advanced, built a perfect enterprise strategy and talent structure, and gradually developed
into a group enterprise integrating R & D, production, sales and service.

Ant series products cover: bldc motor, servo motor, two-phase / three-phase / five phase stepping motor,
screw motor, closed-loop motor, known matching driver, reducer, module platform, etc.

The products are widely used in engraving, laser textile, packaging, medical lathe, printing, inkjet printing
and other hundreds of automation equipment industries.

It is exported to Europe, America, the Middle East, Hong Kong, Macao and Taiwan.



K BEES D

RENEEERRURESE —, BFF—, FEF—NOSUSEAIRIHBZHAX—FANE
5. BUSERARNTHEFMESESHEH, EHLRE. BNAIRE—HEFEZURARMIR
BRI, MoIURERBENERERFRERACRHRERINRUTTLRNRREBIRTT
£, RIFaMEFE, THENBRISHEIRABEFAER, BREBHPISKRERERIT
FERUBREFRE.
RYITTLWBNERATNIRIT. 0. BXEZAINES, RS, eHURERE, SRENRIE,
EHEGEENRESEXE.

BENZFNENOMES D, REEERLR, NMELBNT @B SBFIRSEMINMENHES.

REV TN R HAIBIBLTN, RENLRIEFRLNIEEZIFNBX!

5Kk EC 13 S EB 41
REONBENIREER

Experts of electrical equipment around you

EMN2—XRmHAE. Fa9sENEANERNNEREdBEEIHE—TREHEEXNE MR
RAZR, NRABDIRENMERES RERREHUIRERITPBRN ST,

Our vision is to build a subversive automation solution to improve the performance and quality of
automation equipment and solve various problems encountered in the design of automation equipment.




CBHEEPY

COOPERATIVE CUSTOMERS

RN B TRES M D

BRAND OF DRIVE CORE COMPONENTS

. 5 FOXCONN HAN"S LASER ;: :
mindrayiBik  LOUSSN K i et | @SS SVAGO
MITSUBISHI
CBEREBHA SRV T T S A4 =2 PMiE
gfé BOE &TDK. (Infineon
HUAWEI b TP 835 & _REA
TOKAF R EBAE EFEIRIEXE

mHEMRE, DR, BERE

- KENZLBERLRE D

MOTOR CORE ACCESSORIES BRAND

L ]

R
MNSK KURODA :e*l & BAOWU

MARE. EEITH. BNXIEE. THiE&E.
8%, MR, TRENE. $8K, EFRE
BRXYZEESE

H <N S K % BAZEHEER 180 Bt 2L EHINH38
T HEE 2 KET = %ﬂ%%éﬁﬁiﬁ%&%m DIRERSEBNKOHNE P EFGFOOBIEN LN
EE=NPENE

R 2 B S BO R 5N




BH=

CONTENTS

MYFL MYFL1 MYFR1 MYFH MYFC MYL MYL1 MYR1 MYH MYC
RITEREN  RIWTEREN RITEREN RITEREN  RIUTEREN E B RGE FEIIRIEN FRIREN FRIIRIEN FEIIRIE
MYFL SERIES SERVO ~ MYFLT SERIESSERVO ~ MYFR1SERIES SERVO ~ MYFHSERIES SERVO ~ MYFC SERIES SERVO MYL SERIES SERVO MYLT SERIES SERVO ~ MYR1SERIESSERVO ~ MYH SERIES SERVO MYC SERIES SERVO
PLANETARY GEARBOX ~ PLANETARY GEARBOX  PLANETARY GEARBOX  PLANETARY GEARBOX ~ PLANETARY GEARBOX GEARBOX GEARBOX GEARBOX GEARBOX GEARBOX

09 11 13 15 17 19 20 21 22 23

BT St A A A A

25Ty HEHIFIY



TdAIN

LTdAIN

s

R R iEES

I{J%_*Mﬁ‘ it e d R K e I PARTIE WA

Permissible Radial Force and Axial Force of Gearbox Output Shaft

GEARBOX SELECTION

HEMAF2rEADTER B RO EEIX=1/2L(SPHAFIX=0), FRMEBVRENEFRNRELIZRERT, £H
ZF8n920000hrBYFrEEARZ BYIE A /IF2rB, BERTE,

TdAN

LTdAIN

HAN LIAIN LTAIN TAN JdAIN HdAIN LIdAIN

JAN

it TS S P

R BimizshtE Work model

Please consult the left picture to find the right permissible radial force F2rB, when gearbox with 20000hr, using life works at different

Www.zsmy.cc

output speed on the condition that radial force F2r acts on the middle of the output shaft,Xx=1/2L(SPH seriesX=0).
FITIEHE 75 3\ (Determine the work model) ?ﬂ
;ﬁ 20000 L
58 14000 X T
— — |<——
FD60% z i 12000 0 PF235/PX220 it
RS twore<20mins EsiEEE n — 4= 10000 — — . Far i
Periodic worke (Eq.1) Consecutive work % F. § .2 4000 S a PF205/PX180 1
- =g 2000 — T PF160/PX142
iy — "
: : % B = 1500 —— o PF120/PXT15 | -
HEIBIRELI(Eq.2) Calculate the ratio i ITEIBIRELI(EQ.2) Calculate the ratio i i = ¢ ~—__
T
) ETF—I R 1000 T \f PRO0/PX30 Faaz Faat
THER FARPR R R TR PR R T IHAE 5% i 300 B — PF60/PX60 =>
Calculate the average actual torque Calculate the average actual torque & \41 = — T f
Tom (EQ.3) Tam (EQ.3) 5 T PF40/PX40 L_—
10 20 40 60 100 200 400 600 1000 2000
HENAimRAIEE B i8) Ti :
Calculate the maximum accelerating torque T2max e %5 n, [ rpm ]
Tamax (EG.4) e
1'ED=—at X 100%, tyou =t + 1, + 1 20000 —
SEFEAREN A Torae<Tos NO 77120 SEse ) THRILH: . M, c. ZiF, oplanation:  (Ea.1) — 15000 i
Selectthe bigger gearbox ‘_ Ten<Tos Selectthe bigger gearbox oL B, p L Socmelerated ciconstant z ﬂl’rﬂ 10000 — = PH205
o ST E—
.73 8000 1 PH160
N n w = 6000 — ——
TR PR TR L R Now A2 BUSRA ARE ST R Now 2.i= 2~ R ey — PH120
Calculate the average speed Nam and gearboxes rated output speed W°fk g & 4000 — s
(Eq.5) Nm SikiiiEE Output speed of motor XH |.|_, T PH90
Nork SEFRELFIEE Actualspeedonwork  (Eq.2) ﬁ R 2500 _— Vs
EFRBRASIAH ) —— o
isilﬁﬁcf%/ﬂf?ibﬁtt Tonor / Ton / NN 3 S S \41 i 1500 —— f 60
moioeraid snfall‘egrgraetrio 3T, - ;{/V‘ZaxtaxTZa Ny Xt X Toe +Noy¥tgXToy 500 | —
Ciame t t t -
BB LS T Fam M (EQLE) M ) 10 20 40 60 100 200 400 600 1000 2000
ITEB ] 2R T Forns HHR 7T Foam (EQ) v
Calculate the average radial force Farm and axial force F2am wich act on the gearboxes shaft iﬁ H:'I Em ?ﬁ?]g n, [ rpm ]
4. T2max = Tme ixkaxn
; ox P STET
HIEIVAL P2 FHER P MNPt VBYE RO Kn SUERH Goeficiontatload HEMAF2EA A EREEPOMEN, SRTERFEX<L/2L, FIEFHOERNEA, ERNER. MTE,
Alculate the average radial force Fas and axial force F2as wich act on the gearboxes shaft 28/ 528 K FERRRE N {&/ﬁﬁ;m; 7 1% & 7 ﬁ E@ j] T VEBX T H:ul 1 VB ﬁ‘ 7‘—:—_['- z; ?& Kb
Periodic times/hour — S °
1.0 0~1,000 The gearbox permissible radial force is bigger when radial force is closer to gearbox(X<1/2L)on the condition that radial force F2r is not at
SRR A AT, 11 1,000~1,500 the middle of the shaft .Under the same condition you can consult the left picture to find the locational coefficient at load Kb by the
Select the bigger gearbox 12 ;gggéggg specification of gearbox and the location X radial force acts on.
1:8 3:000~5:000 15 ‘
14 12
VR R AERE R AL Trg ﬁ] ik K AR . 13 PF40/PX40 "
Select requisite accuracy and type of output shaft. e maximum output torque of motor . PF60/PX60 X PH60
N OREHLERNE (Eq.4) = NN = o
gearbox efficiency on work K PF90/PX90 09 PH90
4 \\\ ’
WEHEFERR, Finish selection m'_'\‘ ;jg N\ — 1 PF120/PX115 N]_"\‘ g:g PH120
5 e 1 *\“—I A EAYANN PF160/PX142 *\1, 06 PH160
Mo TMa ™l =, A\ PF205/Px180 B ool N\ PH205
SSRGS RN ET g = 2%t Nae e ag M s B os| N\ AN < PF235/Px220 il o NWae
The recommendation of periodic work _ Ny a” tc” d [\:_| 05 \/ N E% 43—' 03 N ~ —
o Mon = =7 (Eq.5) 04 N NERSNN 02 S Em——
—MRNAREAFESUTA: Jo <4xJ 03 S~ o ~—
Common inertia need fitwith the following formula: i ~ - "o 20 40 80 120 160 200 240 280 320 o 20 40 80 120 160 200 240 280
REHHNARENFEUTAN dhe g Naa X Farg 0t F e ¥t ¥ Py ZENEAAE X[ mm] ZEAEHLE X[ mm]
The most suitable inertia need fit with the following formula: i = =" 6. Form= Nog Xty Xty Xty The location X radial force acts on The location X radial force acts on
Ju AEIRE Inertia at load
Jn Z3XIRE Inertia of the motor NaXtaXFoa XX Fone +NpXtgXF gy "ana +nyXt, "anc +”2d"tdxF2ad
Faam= NgaXta Ny Xt o Xty (Eq.6)
01 W

www.mayimotor.com

HAN LIAIN LTAN TAN J4dANN HdAIW L4dAIN

JAN

AR A2



HAN LIAIN LTAIN TAN JdAN HdAIN L44dAIN  LT4dAN TdAIN

JAN

it TS S P

ApAUL;

o
o)

ORDERING INSTRUCTIONS

MYO070 FL - 4 - S1 - MOTOR

FBHEECES, AREBRRARERST

Motor adapter, not specified for the standard size

HZIUSL: Sth, REBBAHREH

Shaft output form of the S1: Smooth Output Shaft , not specified for the keyed shaft

BREL: B4R (Single stage)1/2/3/4/5/6

Ratio  374%(Double stage)8/10/16/20/24/30
=4k (Three stage)32/40/50/60/80/120

a4k (Four stage)160/200/250/320/400

BURMEE (Deceleration type): FL. FL1. FR1. FH. FC. L. L1. Rl H. C

Fam#A%) (Product series) : MY070, MY090, MY110, MY140, MY170, MY210, MY240

g
With keyed shaft Smooth Output Shaft

S 1 Hil

EFEHI:MYO90-FL-20-S1/SIEMENS 1FT6 041-4AF71

MRERDHIEREMBEEERAR,
The selection of examples: MY90-FL-20-S1/SIEMENS 1FT6 041-4AF71
If in doubt,please contact customer service.

AT I 4
g R SH AL il 22V AR 0] ) A 1) )
. Permissible Radial Force and Axial Force of Gearbox Shaft
LREBEARFEIERP O EREIX=1/2L, FEFEERNERENEHEZERERT, FHEHH/920000hrBIFT
BEAZ IR B IFLB. F2rB, BEBE TE,

Please consult the left picture to find the right permissible radial force F1rB. F2rB, when gearbox with 20000hr, using life works at different output speed on the
condition that radial force F2r acts on the middle of the shaftX=1/2L.

18,500 32,500
30500
— 16500 —_— 28500
z i 14500 = HI 50 N
— 45 \ — 5 2T
@ T 1m0 @ S 280
w s \ N - 20500 AN
R H 1050 s - 1850 \\
16,500
e FH oew = B s
H- Ho 12500
\'(Jj 6500 Lﬁ'i 10,500
R R ®
3":’—\_ g 450 :l,"_: e :‘:g
iR W :
{\@ 2500 {\.¢ = 4,500
2,500
500 —————————————————— ) 500 , ———— ]
300 900 1500 2100 2700 3300 3900 4500 5100 5700 6300 6900 7500 300 900 1500 2100 2700 3300 3900 4500 5100 5700 6300 6900 7300
HINEHEEIE n[ rpm ] Wi tH3mEEE n, [rpm ]

LEADFUBARTEHP OB, BEIDRRTIEIX<1/2L, PAIBEFNEEATAR, ZBNER, WOTE, K5
BEAAE SAZ A DAL EX, B H AL E {5 R Kb,

The gearbox permissible radial force is bigger when radial force is closer to gearbox(X<1/2L)on the condition that radial force F2r is not at the
shaft .Under the same condition you can consult the left picture to find the locational coefficient at load Kb by the specification of gearbox and
the location X radial force acts on.

Hy N input shaft Ml output shaft

15 15

14 14

13 \ 13

12 12
; 1.1 \\ ; 1.1
A\ £
A \N AN
= o9 E o9 N
b NN B AN
i o7 g
kel \ =

06 06

05 05

04 04

0 LT~ = 0

0 40 80 120 160 200 240 280 320 360 400 440 0 40 80 120 160 200 240 280 320 360 400 440

FEAEDLEX[mm]
The location X radial force acts on

ZEAEHLEX[mm]
The location X radial force acts on

L
X ( —
{
Fzr@
—_— MY210 = MY110 i  —
=— MY170 = MY090
MY140 — MY070 —-— -3t -1—-1—
FZaZ FZa1

Www.zsmy.cc

www.mayimotor.com

HAN LIAIN LTAN TAN J4dAN HdAIW LddAIN  LT4dAN TdAN

JAN

pir e 7S S



HAN LIAIN LTAIN TAN JdAN HdAIN L44dAIN  LT4dAN TdAIN

JAN

it TS S P

MY 2257 EREN o

MY FLANGE SERIES PIANETARY GEARBOX

/\!; w0

§ MY 352 BT B

% MY flange series product peatures:

— AR EETEHREANM SR, SERENTRES THE.
Integration of al loy aluminum body to ensure the maximum rigidity and corrosion resistance, and easy to
assemble with multiple precision machined surface.

KATRIRZ PR, S2RENRIT, ERAENHY—. SFailBid.
The use of top-level spiral bevel gear, with optimization design, the contact tooth surface of uniform load.
allowable hith torque out put.

HIEKRABRNDBMEEW, HERBBERSISO 6K/,
Gear is made of high strength alloy steel carburizing, grinding precision accorded with the standard of ISO 6.

ZEETWHEBNBSTER TSI ENFER.

The design of multiple alloy steel output and input shaft applies to various industrial requirements.

EFEEENIRE R AP LUAEI400: 189BEL.

Spiral bevel gear set of high precision grinding can achieve 400:1 ratio.

SHAERMRAEBERITHE R TR AR A,

The simplified structure desigh with high torque and low backlash applies to applications of precision servo.

RRFTLEF BB, BRFHK,

With maintenance-free, no need to replace the grease and long service life.

Www.zsmy.cc

%

FTERELE Model

MYO70FL MYO9OFL MY110FL MY140FL MY170FL MY210FL MY240FL

| MY E=ZRT1TERENIZARSE

. MY Flange Series Servo Planetary Gearbox Technical Data

MYQ70FLIMYO90FLIMY110FL1MY140FLTMY170FLTMY210FL1MY240FL1

MYO070FRIMY090FR MY110FRMY140FRMY170FRMY210FRMY240FR1Ratio | Stage
MY070FH MY0O90FHMY110FH MY140FH MY170FH MY210FH MY240FH
MY070FC MYO90FC MY110FC MY140FC MY170FC MY210FC MY240FC

45 78 150 360 585 1300 2150 1
42 68 150 330 544 1220 2010 2
33 54 120 270 450 1020 1650 3 )
28 48 100 224 376 860 1410 4
25 40 85 196 320 740 1200 5
20 35 65 150 260 600 950 6
42 68 150 330 544 1220 2010 8
42 68 150 330 544 1220 2010 10
42 68 150 330 544 1220 2010 16
42 54 150 330 544 1220 2010 20 .
33 54 120 270 450 1020 1650 24
S TS 33 | 68 | 120 | 270 | 450 | 1020 | 1650 | 30
Rated Output Torque N 68 150 | 330 | 544 | 1220 | 2010 | 32
42 68 150 330 544 1220 2010 40
42 68 150 330 544 1220 2010 50
42 68 150 330 544 1220 2010 60 3
42 68 150 330 544 1220 2010 80
42 68 150 330 544 1220 2010 100
33 54 120 270 450 1020 1650 120
42 68 150 330 544 1220 2010 160
42 68 150 330 544 1220 2010 200
42 68 150 330 544 1220 2010 250 4
42 68 150 330 544 1220 2010 320
42 68 150 330 544 1220 2010 400
HBE(=IEHRE" Fault stop torque’ Nm 2ZENE b AR 1~400| 1~4
<8 <8 <8 <8 <10 <12 <14 | 1~6 1
<10 <10 <10 <10 <12 <15 <15 [8~30| 2
[EIF2/8]PR Backlash arcmin
<12 <12 <12 <12 <15 <17 <17 |[32~120] 3
<20 <20 <20 <20 <20 <20 <20 [160~400| 4
HWHEARAA’ Output maximum radial force’ 1100 1700 2700 4800 6600 11500 | 16000 [1~400{ 1~4
& AME T’ Output maximum axial force* 550 850 1350 | 2400 | 3300 | 5750 | 8500 [1~400| 1~4
g7 6n Average life span hr 20000 1~4 1
EALRMERN Single stage efficiency % >98% 1~4 1
IR’ Noise’ dBA)| <72 | <75 | <77 | <78 | <80 | <82 | <84 |14 1
AT

www.mayimotor.com

HAN LIAIN LTAN TAN J4dAN HdAIW LddAIN  LT4dAN TdAN

JAN

pir e 7S S



HAN LIAIN LTAIN TAN JdAN HdAIN L44dAIN  LT4dAN TdAIN

JAN

it TS S P

§ MYZZ=ZIU1T 2 IRIRYIRASE

o a s 3500 | 3500 | 3000 | 3000 | 2500 | 2000 | 1800 | 1~4| 1 2 MY Axis Series Servo Gearbox Technical Data
BRAFINIZEE Max input speed * rpm
6000 6000 6000 6000 6000 6000 4000 [8~400| 2~4
MYO70L MYO90L MY110L MY140L MY170L MY210L MY240L
2500 2500 2000 2000 1500 1500 1200 1~4 1
ENE S NIRE " Rated input speed” | rpm MYO070L1 MY090L1 MY110L1 MY140L1 MY170L1 MY210L1 MY240L1
3000 3000 3000 3000 3000 3000 2000 |[8~400| 2~4 :
MY0O70R MY090R MY110R MY140R MY170R MY210R MY240R Ratio Stage
13 3.16 7.7 23.57 58.99 1954 | 369.34 1 1
MY070H MY090H MY110H MY140H MY170H MY210H MY240H
1.11 2.7 6.31 17.75 4535 | 140.24 | 249.74 2 1
MY070C MY090C MY110C MY140C MY170C MY210C MY240C
1.09 2.66 6.17 17.18 44,01 | 13495 | 237.71 3 1
45 78 150 360 585 1300 2150 1
1.09 2.65 6.13 17.06 43.7 133.58 | 234.72 4 1
HEpRE M f kgem?’|  0.91 2.52 5.8 16.08 40.25 130.2 | 230.52 5 1 i °8 0 >0 > 1220 2010 ’
= tofinerti . . . . . . .
HIE Homentotinertia & SRS . 33 | 54 [ 10 | 2t | as0 | 100 [ 3650 | 3 | |
0.82 24 5.2 15.32 38.56 | 120.53 | 220.45 6 1 m
Rated Output Torque 28 48 100 | 224 | 376 | 860 | 1410 | 4
0.15 0.5 2.79 2.79 2.79 9.91 29.26 |8~30 2
25 40 85 196 320 740 1200 5
0.14 0.48 2.8 2.8 2.8 9.96 29.43 [32~120] 3
20 35 65 150 260 600 950 6
0.13 0.46 2.8 2.8 2.8 9.96 29.43 [160~400f 4 -
HE (S LEHE" Fault stop torque’ Nm 2EEE i e 1~6 1
L AR 17 RO IR # L 41 FE50% [E1#2[a)F48 Backlash arcminl <8 | <8 | <8 | <8 | <10 | <12 | <14 |1~6]| 1
c T 97 2 hf ik T, - “ By “\—\‘; N 7 RUTIATG fh g A B . . 2
2. ﬁqﬁ 2 (f:tfﬁloorpmuj fl’F}ﬂHﬂmﬁﬂ/M/E (L/28b) ZZ5VF43 M) 71 B ) g B HEARAT Output maximum radial force N 1100 1700 2700 | 4800 6600 1 11500 | 16000 | 1~6 1
3. fbR €37 MEF£En1=3000min '\ 1KALIITES
4. 48FF “47 FRBHEE H20°C BHRAME’ Output maximum axial force* N 550 850 1350 | 2400 | 3300 | 5750 | 8500 | 1~6| 1
1 the suhs(:!'?pt :]:' maximum acceleration m!'quo» is equal to the f"d[].uro to stop %()l'(.;uo 50% ) ) 5@)\%*1%@7]2 Enter maximum radiaHOrCez N 950 1450 2100 2700 3800 7800 9600 l,\_,6 l
2 the subscript “2” at the speed of 100RPM, acting on the center axis (L/2) permissible radial force and axial force
i x:c gu:m;r@pt i n;iw in n1=3000min’, measured “(1) ll)lzl ) NS AMAS’ Input maximum axial force’ N 425 725 1050 1350 1900 3900 4800 | 1~6 1
the subscript “4” the environment temperature is 2! G C
FgFan Average life span h 20000 I~6| 1
RZEn Efficiency % >98% 1~6 1
E Weight BT Noise” dBW| <72 | <5 | <77 | <18 | <80 | <8 | <84 | 1~6] 1
RS Reducer model MY075 MY090 MY110 MY140 MY170 MY210 MY240 Ratio Stage BABNRE Maxinput speed * mint | 3500 3500 3000 3000 2500 2500 2000 | 1~6 1
44 1) 121 | 209 | 361 | 694 | 1012 | 16 | 1 I NEEE Rated input speed’ | min® [ 2500 | 2500 | 2000 | 2000 | 1500 | 1500 | 1500 | 1~6 | 1
FLE] 48 | 81 | 143 | 242 | 385 | 74l | 1124 | 80 ] 2 13 | 316 | 7.7 | 2357 | 5899 | 1954 | 36934 | 1 | 1
25 98 16.9 201 388 34 1152 | 310 3 1.11 2.7 6.31 17.75 4535 | 140.24 | 249.74 2 1
6.5 10.5 18.6 29.5 40.6 76.9 120.6 |160~400] 4 109 66 617 1718 2201 | 13295 | 23771 3 1
4.1 6.5 11.9 20.3 355 68.3 99.6 1~ 1 LEEHIRE Moment of inertia kgcm2 - . . . . . .
45 73 141 739 379 732 110.8 830 B 1.09 2.65 6.13 17.06 43.7 133.58 | 234.72 4 1
FLIZS 51 | 92 | 158 | 265 | 382 | 723 | 1156 |o~m0| 3 091 | 252 | 58 | 1608 | 40.25 | 1302 | 23052 | 5 | 1
6.3 10 182 | 282 | 394 | 752 | 1185 |160~400| 4 0.82 2.4 52 | 1532 | 3856 | 12053 | 22045 | 6 1
4.1 6.7 114 18.9 329 63.2 92.5 1~ 1 4.2 6.8 11.6 19.8 34.8 66.2 98.1 LR
46 1.7 13.6 22.4 353 67.9 103.7 8~30 2 4.1 6.7 115 19.5 34.2 65.1 96.6 L1&7%!
FHZ7 kg E 8 Weight kg
5.2 8.6 153 26.9 36.6 72.2 109.5 [32~120 3 3.9 6.4 11 18.1 316 60 89.4 HZF
5.8 9.5 17.6 28.6 384 74.3 115.6 |160~400] 4 49 69 114 19.6 337 633 979 CZ5|
4.1 6.7 11.4 18.9 329 63.2 92.5 1~ 1
— 46 77 13.6 22.4 35.3 67.9 | 1037 | 8~30 | 2 LR 17 S5 ROID s H 0 45 T W e s 1= 41 AE50%
E ; o S ) ) R S A .
52 8.6 153 26.9 36.6 12.2 109.5 | 32~120 3 é E? r25 ;iff@l?ogggl?’ {tﬂ?jﬁgﬁ S
bR 437 MRS AEnl= min 'y 12 MIEESS
5.8 9.5 17.6 28.6 38.4 74.3 115.6 |160~400] 4 4. FRT “4” FREEEE R20°C
41 65 119 203 355 683 996 1N6 1 1 the subscript 1”7 maximum acceleration torque is equal to the failure to stop torque 50%
N 2 the subscript “2” at the speed of 100RPM, acting on the center axis (L/2) permissible radial force and axial force
FR].?\‘?}_IJ 4.5 73 14.1 23.9 371.9 3.2 1108 §~30 2 3 the suhx‘criiﬂ ”3” noise in[nlfiSOOOmin‘, mcasurc: at 1 m [
51 9.2 15.8 26.5 382 723 1156 32~120 3 4 the subscript “4” the environment temperature is 20 DEG C
6.3 10 18.2 28.2 394 75.2 1185 |160~400] 4
V- 08 |

Www.zsmy.cc www.mayimotor.com

HAN LIAIN LTAN TAN J4dAN HdAIW LddAIN  LT4dAN TdAN

JAN

AR A2



=
<
M
.

HAN LIAIN LTAIN TAN JdAN HdAIN L44dAIN  LT4dAN

JAN

it TS S P

5

4-(2 (7

§ MYFLZR ST E2IRENARER

%< MYFL Series Servo Planetary Gearbox Standard Size

2XL-K8

K5

K5
3]

Kb Kk K&

Ké

K K1 K
- K9 | L 2XL-K8
Py
A ]
A R IeeE s
el =l =
7771 i
ST
0 ©
[ |
mTm
J
L]
A12]
T

rr
ALl

T

I [94. 1

(567

8

R;g MYO70FL MYO9OFL MY110FL MY140FL MY170FL MY210FL MY240FL
K1 75 90 110 140 170 210 240
K2 14.5 15 15 15 15 20 25
K3 ®73 »88 $108 $135 $165 $205 $235
K4 54 62 72 87 102 127 147
K5 $22 $25 $30 4T ®55 ®75 85
K6 30 35 40 50 60 75 85
K7 ®16 ®18 $22 $32 $40 $50 $55
K8 M6XS8 M6X15 M8X10 M10X13 M12X20 M16X25 M16X35
K9 60 72 88 110 134 170 190
K10 M5X12.5 M5X12.5 M8X19 M12X28 M16X36 M16X36 M16X36
K11 5 6 6 10 12 14 16
K12 18 205 245 35 43 535 59
K13 25 28 32 45 50 70 80

BIRRBAEZER T
c1 ®70 $90 $90 $145 $145 $200 $215
2 M5X12 M6X15 M6X15 M8X20 M8X20 M12X25 M12X25

Www.zsmy.cc

Rj: MYO70FL MYO9OFL MY110FL MY140FL MY170FL MY210FL MY240FL
3 »14 $19 ®19 $24 $24 $35 42
C4 321 416 416 61.3 61.3 82 82.5
c5 $50 $70 ®70 $110 $110 $114.3 $180
C6 6.5 6.5 6.5 8 8 8 8
7 70 85 89 120 120 175 190
cs8 1155 135 145 203 218 2835 308

W IR BBAE R R~
c1 ®70 $90 $90 $145 ®145 $200 $215
2 M5X12 M6X15 M6X15 M8X20 M8X20 M12X25 M12X25
3 ®14 $19 ®19 $24 $24 $35 42
4 321 416 416 61.3 61.3 82 825
C5 $50 $70 ®70 $110 $110 $114.3 $180
6 6.5 6.5 6.5 8 8 8 8
7 70 85 89 120 120 175 190
c8 1155 135 145 203 218 2835 308
= RRREBAIEER T
C1 ®70 $90 $90 $145 ®145 $200 $200
2 M5X12 M6X15 M6X15 M8X20 M8X20 M12X25 M12X25
3 ®14 $19 ®19 $24 $24 $35 $35
c4 321 416 416 61.3 61.3 82 82
C5 $50 $70 ®70 $110 $110 $114.3 $114.3
C6 6.5 6.5 6.5 8 8 8 8
7 70 85 89 120 120 175 175
cs 139.2 166.3 176.3 244.8 259.8 3445 368
VOB IR BB AL IE R T
c1 ®70 $90 $90 $90 $90 ®145 $200
) M5X12 M6X15 M6X15 M6X15 M6X15 M8X20 M12X25
3 ®14 $19 ®19 $19 $19 $24 $35
c4 321 416 416 416 416 61.3 82
C5 $50 $70 ®70 ®70 ®70 $110 $114.3
6 6.5 6.5 6.5 6.5 6.5 8 8
7 70 85 89 89 89 120 175
c8 162.9 197.6 207.6 253 268 364 429
y 10 |

www.mayimotor.com

HAN LIAIN LTAN TAN J4dAN HdAIW LddAIN  LT4dAN TdANN

JAN

pir e 7S S



TdAIN

=
<
T
m
—

HAN LIAIN LTAIN TAN JdAN HdAIN LIdAIN

JAN

it TS S P

g MYFL1 &3 1T 2 BRVRER S

. MYFL1 Series Servo Planetary Gearbox Standard Size

4-C2

K5

Kb

Kb

K2

K1 K2

N\

m
JI

C
48]
6567

2X4-K8

K3g7

K7he
f
| |

K3q7

MYO70FL1 ~ MYO9OFLT  MYT10FLT  MYT40FL1  MY170FL1  MY210FLT  MY240FL1
K1 75 90 110 140 170 210 240
K2 145 15 15 15 15 20 25
K3 ®73 $88 $108 $135 $165 $205 $235
K4 54 62 72 87 102 127 147
K5 $22 $25 $30 47 $55 $75 $85
K6 30 35 40 50 60 75 85
K7 ®16 $18 $22 $32 $40 $50 $55
K8 M6X8 M6X15 M8X10 M10X13 M12X20 M16X25 M16X35
K9 60 72 88 110 134 170 190
K10 M5X12.5 M5X12.5 M8X19 M12X28 M16X36 M16X36 M16X36
K11 5 6 6 10 12 14 16
K12 18 205 24.5 35 43 535 59
K13 25 28 32 45 50 70 80
BIRRBAEZER T
c1 ®70 $90 $90 $145 $145 $200 $215
2 M5X12 M6X15 M6X15 M8X20 M8X20 M12X25 M12X25
[ 11 N

Www.zsmy.cc

R;g MYO70FL1 ~ MYO9OFL1  MYT10FL1  MY140FL1  MY170FL1  MY210FL1  MY240FL1
3 »14 $19 ®19 $24 $24 $35 42
C4 321 416 416 61.3 61.3 82 82.5
c5 $50 $70 ®70 $110 $110 $114.3 $180
C6 6.5 6.5 6.5 8 8 8 8
7 70 85 89 120 120 175 190
cs8 1155 135 145 203 218 2835 308

IR IR AT R~
c1 ®70 $90 $90 $145 ®145 $200 $215
2 M5X12 M6X15 M6X15 M8X20 M8X20 M12X25 M12X25
3 ®14 $19 $19 $24 $24 $35 42
4 321 416 416 61.3 61.3 82 825
C5 $50 $70 ®70 $110 $110 $114.3 $180
6 6.5 6.5 6.5 8 8 8 8
7 70 85 89 120 120 175 190
c8 1155 135 145 203 218 2835 308

= RRREBAIEER T
c1 ®70 $90 $90 $145 ®145 $200 $200
2 M5X12 M6X15 M6X15 M8X20 M8X20 M12X25 M12X25
3 ®14 $19 ®19 $24 $24 $35 $35
c4 321 416 416 61.3 61.3 82 82
C5 $50 $70 ®70 $110 $110 $114.3 $114.3
C6 6.5 6.5 6.5 8 8 8 8
7 70 85 89 120 120 175 175
cs 139.2 166.3 176.3 244.8 259.8 3445 368

PO R IR BB AL IE R T
c1 ®70 $90 $90 $90 $90 $145 $200
2 M5X12 M6X15 M6X15 M6X15 M6X15 M8X20 M12X25
3 ®14 $19 ®19 $19 ®19 $24 $35
c4 321 416 416 416 416 61.3 82
C5 ®50 ®70 ®70 ®70 ®70 $110 $114.3
6 6.5 6.5 6.5 6.5 6.5 8 8
7 70 85 89 89 89 120 175
C8 162.9 197.6 207.6 253 268 364 429

y 12 |

www.mayimotor.com

TdAN

HAN LIAIN LTAN TAN J4dAN HdAIW REPN'B LTdAIN

JAN

pir e 7S S



TdAIN
TdAN

LTdAIN

§ MYFR1 2517 2 BURHARAER YT

% MYFR1 Series Servo Planetary Gearbox Standard Size

=
~<
.l
o

MY170FR1 MY210FR1 MY240FR1

RTI MYO070FR1
ize

MYOQ90FR1 MY110FR1 MY140FR1

c3
= o d " g . $14 ®19 ®19 24 024 35 o42 =
=< - < L_ (6 c4 32.1 416 416 61.3 61.3 82 82.5 =<
= 20 B Cs5 Ee
—1
A | ﬁﬂ | } ! ,\;\\ L - - $50 ¢70 ®70 $110 $110 1143 180 ~
| &% <+ t;g 6.5 6.5 6.5 8 8 8 8
2 L —"2° o A c7 70 85 89 120 120 175 190 =2
< KL K 8 115.5 135 145 203 218 2835 308 -
M (8 M
L o . " LR RR BHEER T I
K9 2X4L-K8
I /g{ c1 $70 90 $90 $145 145 $200 215
2 ‘(“1 ' Ko KB c2 M5X12 M6X15 M6X15 M8X20 M8X20 M12X25 M12X25 r<
— e 7‘ T 7 =] ‘B‘ S
= 1 i e — =l % c3 ¢14 P19 P19 924 924 ¢35 42 -
(@] [P . K10 3
oo C4 321 41.6 41.6 61.3 61.3 82 82.5
' ' c5 ®50 ®70 ®70 ®110 ®110 $114.3 $180
= rim 6 6.5 6.5 6.5 8 8 8 8 =2
< —_— <
- iLile) c7 70 85 89 120 120 175 190 -
7/ a
8 115.5 135 145 203 218 2835 308
R~ =R EBAEER T
= : MY070FR1 MYO90OFRT ~ MY110FR1  MY140FR1 MY170FR1 MY210FR1 MY240FR1 =
=< ize c1 ®70 90 90 145 $145 $200 $200 <
—
- K1 75 90 110 140 170 210 240 c2 M5X12 M6X15 M6X15 M8X20 M8X20 M12X25 M12X25 -
K2 14.5 15 15 15 15 20 25 c3 $14 $19 19 $24 $24 ®35 35
2 K3 73 88 108 $135 $165 $205 $235 C4 32.1 416 416 61.3 61.3 82 82 =
; K4 54 62 72 87 102 127 147 c5 $50 70 ¢70 $110 $110 1143 $114.3 ;
- K5 022 25 30 47 $55 75 85 6 6.5 6.5 6.5 8 8 8 8 -
K6 30 35 40 50 60 75 85 c7 70 85 89 120 120 175 175
2 K7 $16 18 22 32 40 50 55 8 139.2 166.3 176.3 244.8 259.8 3445 368 2
; K8 M6X8 M6X15 M8X10 M10X13 M12X20 M16X25 M16X35 DOLR R FE AL R R~ ;
K9 60 72 88 110 134 170 190 c1 $70 90 $90 $90 $90 $145 $200
K10 M5X12.5 M5X12.5 M8X19 M12X28 M16X36 M16X36 M16X36 2 M5X12 M6X15 M6X15 M6X15 M6X15 M8X20 M12X25
5 K1l 5 6 6 10 12 14 16 c3 $14 $19 19 ®19 ®19 24 35 5
(@) K12 18 20.5 24.5 35 43 53.5 59 c4 32.1 416 416 416 416 61.3 82 (@)
K13 25 28 32 45 50 70 80 c5 $50 70 ¢70 ®70 $70 $110 $114.3
B R R B I R T 6 6.5 6.5 6.5 6.5 6.5 8 8
( x c1 $70 90 90 $145 $145 $200 $215 c7 70 85 89 89 89 120 175 ( i
c2 M5X12 M6X15 M6X15 M8X20 M8X20 M12X25 M12X25 8 162.9 197.6 207.6 253 268 364 429
N N\
% %
e i
=1 [ 13 N V. 14 | =1
K‘ WWW.zZsmy.cc www.mayimotor.com K‘



= =
- ~<
M M
- -
3 Vil — RY= =\,
L § MYFHZ 51T 2 BUEAARER Y ™ p
- % MYFH Series Servo Planetary Gearbox Standard Size e MYO070FH MYO090FH MY110FH MY140FH MY170FH MY210FH MY240FH —
c3
= . d " g ) $14 $19 $19 24 24 35 42 =
< . asim <t 4; B 6 C4 321 41.6 41.6 613 613 82 82.5 <
= Eﬁ —~\ TR | c5 0 0 o
EIR 1= ®5 o7 ¢70 $110 $110 1143 180
d \ \Q@ | = b%%/ et C6 6.5 6.5 6.5 8 8 8 8
= & —"2 D 1 ‘ c7 70 85 89 120 120 175 190 =
= kel K Ko K6 8 115.5 135 145 203 218 283.5 308 <
- G -
I ; . o IR R AR R T ==
K9 2XL-K8
$ /é; c1 $70 90 90 145 $145 $200 215
=2 g@f" IR - 1@3 C2 M5X12 M6X15 M6X15 M8X20 M8X20 M12X25 M12X25 =2
= i T =
s I I Y R 3 ®14 ®19 ®19 24 ©24 35 42 <
A N O e I N Y A
N C4 32.1 416 416 61.3 61.3 82 82.5
| | 'Lk c5 50 ®70 ®70 ®110 ®110 ®1143 ®180
= i 6 6.5 6.5 6.5 8 8 8 8 =2
=< oo <
- Life] c7 70 85 89 120 120 175 190 -
~~ a
cs8 1155 135 145 203 218 2835 308
= RRREBAIEER T
= MYO070FH MYO090FH MY110FH MY140FH MY170FH MY210FH MY240FH =
< C1 $70 90 90 145 145 $200 $200 <
=
- K1 75 90 110 140 170 210 240 c2 M5X12 M6X15 M6X15 M8X20 M8X20 M12X25 M12X25 -
K2 14.5 15 15 15 15 20 25 c3 l4 19 $19 24 24 35 ®35
2 K3 P73 88 108 135 165 $205 $235 C4 321 416 416 61.3 61.3 82 82 2
; K4 54 62 72 87 102 127 147 c5 $50 70 ®70 $110 $110 1143 1143 ;
- K5 $22 28 33 4T P55 75 85 6 6.5 6.5 6.5 8 8 8 8 -
K6 32 35 40 50 55 65 80 c7 70 85 89 120 120 175 175
2 K7 Pl4 18 $22 32 P40 50 ®55 s 139.2 166.3 176.3 2448 259.8 3445 368 2
; K8 M6X8 M6X15 M8X10 M10X13 M12X20 M16X25 M16X35 PO AR FEATLE i R~ é
K9 60 7 88 110 134 170 190 C1 $70 90 90 90 $90 $145 $200
K10 5 6 6 10 12 14 16 c2 M5X12 M6X15 M6X15 M6X15 M6X15 M8X20 M12X25
5 K1l 16.3 20.8 248 353 433 53.8 59.3 c3 Pl4 ¢19 ®19 ®19 $19 24 35 5
@) K12 18 205 245 35 43 535 59 C4 321 416 416 416 416 61.3 82 (@)
K13 25 28 32 45 50 70 80 c5 $50 70 ¢70 ®70 ®70 $110 $114.3
B RRENEER T 6 6.5 6.5 6.5 6.5 6.5 8 8
( x C1 $70 ®90 90 145 145 $200 $215 c7 70 85 89 89 89 120 175 ( i
c2 M5X12 M6X15 M6X15 M8X20 M8X20 M12X25 M12X25 c8 162.9 197.6 207.6 253 268 364 429
N N\
% %
e T
=1 [ 15 N V- 16 | Y=
K‘ WWW.zZsmy.cc www.mayimotor.com K‘



L44dAIN  LT4dAN TdAIN

HdAIN

=
<
m
(@)

HAN LIAIN LTAIN TAN

JAN

it TS S P

§ MYFCRII{TERENARAERT

% MYFC Series Servo Planetary Gearbox Standard Size

K11

2XL-K8

on _om ([Tm

K10
6

K3q7
K9

%
K& K& Kb Ke
K K
. }5; L 2XL-K8
Yol P
B
o |
A | | | R =
H LJ | i \7 H
E@* ’*:LQ *::::;;** T j
& T &

— —
EEAR) %7‘
8 \o s
N “ren
Dt &2

(567

8

MY070FC MYO90FC MY110FC MY140FC MY170FC MY210FC MY240FC
K1 75 90 110 140 170 210 240
K2 145 15 15 15 15 20 25
K3 ®73 88 $108 $135 $165 $205 $235
K4 54 62 72 87 102 127 147
K5 ®16 $22 $25 P44 ®50 $62 68
K6 14 18 18 24 26 29 29
K7 ®14 $18 $22 $32 $40 $50 $55
K8 M6X8 M6X15 M8X10 M10X13 M12X20 M16X25 M16X35
K9 60 72 88 110 134 170 190
K10 41 50 50 80 90 110 115
K11 185 23 23 29.5 315 345 345
K12 32 35 40 50 55 65 80

BIRRBAEZER T

c1 ®70 $90 $90 $145 $145 $200 $215
2 M5X12 M6X15 M6X15 M8X20 M8X20 M12X25 M12X25

Www.zsmy.cc

R;g MY070FC MYO90FC MY110FC MY140FC MY170FC MY210FC MY240FC
3 »14 $19 ®19 $24 $24 $35 42
C4 321 416 416 61.3 61.3 82 82.5
c5 $50 $70 ®70 $110 $110 $114.3 $180
C6 6.5 6.5 6.5 8 8 8 8
7 70 85 89 120 120 175 190
cs8 1155 135 145 203 218 2835 308

IR IR AT R~
c1 ®70 $90 $90 $145 ®145 $200 $215
2 M5X12 M6X15 M6X15 M8X20 M8X20 M12X25 M12X25
3 ®14 $19 $19 $24 $24 $35 42
4 321 416 416 61.3 61.3 82 825
C5 $50 $70 ®70 $110 $110 $114.3 $180
6 6.5 6.5 6.5 8 8 8 8
7 70 85 89 120 120 175 190
c8 1155 135 145 203 218 2835 308
= RRREBAIEER T
c1 ®70 $90 $90 $145 ®145 $200 $200
2 M5X12 M6X15 M6X15 M8X20 M8X20 M12X25 M12X25
3 ®14 $19 ®19 $24 $24 $35 $35
c4 321 416 416 61.3 61.3 82 82
C5 $50 $70 ®70 $110 $110 $114.3 $114.3
C6 6.5 6.5 6.5 8 8 8 8
7 70 85 89 120 120 175 175
cs 139.2 166.3 176.3 244.8 259.8 3445 368
PO R IR BB AL IE R T
c1 ®70 $90 $90 $90 $90 $145 $200
2 M5X12 M6X15 M6X15 M6X15 M6X15 M8X20 M12X25
3 ®14 $19 ®19 $19 ®19 $24 $35
c4 321 416 416 416 416 61.3 82
C5 ®50 ®70 ®70 ®70 ®70 $110 $114.3
6 6.5 6.5 6.5 6.5 6.5 8 8
7 70 85 89 89 89 120 175
C8 162.9 197.6 207.6 253 268 364 429
y 18 |

www.mayimotor.com

LddAIN  LT4dAN TdAN

HdAIW

JdAIN

=
<
-

HAN LIAIN LTAN

JAN

pir e 7S S



L44dAIN  LT4dAN TdAIN

HdAIN

S
=<
m
(@]

HAN LIAIN LTAIN

JAN

it TS S P

§ MYLRITE BRHARER S

% MYL Series Servo Planetary Gearbox Standard Size

K
2XL-K8 K

1
L-K8 ‘ K9 ‘ 9 | K2,

g ° 3 3

(3 )
g @) d e s =15
N7 N

° il o ‘o

Kb Kb Kb Kb K16 K6
K ﬁ; K
|
o ]

K3q7
9

K7hé

| |
| |
| |
| |
| |
Il |
L
=<
=
L
Khs
K3q7
K12

R;;r MY070L MY090L MY110L MY140L MY170L MY210FL MY240L
K1 75 9 110 140 170 210 240
K2 14,5 15 15 15 15 20 25
K3 ®73 $88 $108 $135 $165 $205 $235
K4 54 62 72 87 102 127 147
K5 $22 $25 $30 47 $55 $75 $85
K6 30 35 40 50 60 75 85
K7 ®16 $18 $22 $32 $40 $50 $55
K8 M6X8 M6X15 M8X10 M10X13 M12X20 M16X25 M16X35
K9 60 72 88 110 134 170 190
K10 M5X12.5 M5X12.5 M8X19 M12X28 M16X36 M16X36 M16X36
K11 5 6 6 10 12 14 16
K12 18 205 24.5 35 43 535 59
K13 25 28 32 45 50 70 80
K14 73 88 108 135 165 205 235
K15 15 15 15 15 15 20 25
K16 90 100 115 130 155 195 225

[ 19 N

Www.zsmy.cc

§ MYL1 24T ERUEAARAER S

. MYL1 Series Servo Planetary Gearbox Standard Size

L-K8

K9

Kb

LYA

2XL-K8

K3q7
K

K7ho

2XL-K8

-
N

Kih
Kihg7

K12

Kb

);'2 MYO70L1 MYO90L1 MY110L1 MY140L1 MY170L1 MY210FL1  MY240L1
K1 75 9 110 140 170 210 240
K2 14.5 15 15 15 15 20 25
K3 ®73 $88 $108 $135 ®165 $205 $235
K4 54 62 72 87 102 127 147
K5 $22 $25 $30 47 $55 ®75 $85
K6 30 35 40 50 60 75 85
K7 ®16 $18 $22 $32 $40 $50 $55
K8 M6X8 M6X15 M8X10 M10X13 M12X20 M16X25 M16X35
K9 60 72 88 110 134 170 190
K10 M5X12.5 M5X12.5 M8X19 M12X28 M16X36 M16X36 M16X36
K11 5 6 6 10 12 14 16
K12 18 205 24.5 35 43 535 59
K13 25 28 32 45 50 70 80
K14 73 88 108 135 165 205 235
K15 15 15 15 15 15 20 25
K16 90 100 115 130 155 195 225

www.mayimotor.com

JdAIN HdAIW LddAIN  LT4dAN TdAN

TAN

HAN LIAIN LTAN

JAN

AR A2



TdAIN
TdAN

= =
'< ¢ A =k —\, 3 Vil — BY= =, -<
. § MYR1RII{TEBIRTITER Y § MYHZRSUTTERENARER T pL
- . MYR1 Series Servo Planetary Gearbox Standard Size % MYH Series Servo Planetary Gearbox Standard Size -
K1
. 4-K8 K9 2%4-K8 K9 Kls
L-K8 KB Ky —— | | 4
3 & K9 é \L K9 4}‘15} é 3,!\ goy é 3
é f\ %% ﬁN K3 é
r\ m]: NN/ E[ - e 2=
) e PP @)F WD 2
¢ ¢ ¢ %} {il» Kf} ¢ ¢K16 K6
3 KL Kb K16 K6 3
< <
m K7 K1 K M
+ - 9 L xike —— D I
a— < — i ° o]
'J\ ~
o 3 T | kB3 i
~ il B3 | e ey R
. T Tl o e B =T .
=< = s @ =l 3 <
M -
(@] (@
= =
< <
- |
§2 MYQ70H MYQ90H MY110H MY140H MY170H MY210FH MY240H
3 RTJ- MYO70R1 MYO90R1 MY110R1 MY140R1 MY170R1 MY210FR1 MY240R1 3
< 1ze K1 75 90 110 140 170 210 240 <
| |
- K1 75 90 110 140 170 210 240 K2 14.5 15 15 15 15 20 25 -
o i I I e " ” s K3 »73 $88 $108 $135 $165 $205 $235
K3 73 88 108 135 165 205 235 «“ > o2 e il 102 L7 il
¢ ¢ ¢ ¢ ¢ ¢ ¢ K5 ©22 28 33 v47 55 ®75 85 5
K4 54 62 72 87 102 127 147 K6 30 35 40 50 60 75 85 <
K5 $22 $25 $30 47 $55 ®75 $85 K7 ®16 ®18 $22 $32 $40 $50 $55 -
K6 30 35 40 50 60 75 85 K8 M6X8 M6X15 M8X10 M10X13 M12X20 M16X25 M16X35
K10 M5X12.5 M5X12.5 M8X19 M12X28 M16X36 M16X36 M16X36
; K8 M6X8 M6X15 M8X10 M10X13 M12X20 M16X25 M16X35
K11 5 6 6 10 12 14 16
K9 60 72 88 110 134 170 190 K12 18 205 245 35 3 535 59
K10 M5X12.5 M5X12.5 M8X19 M12X28 M16X36 M16X36 M16X36 K13 5 8 3 45 50 20 30
5 K11 5 6 6 10 12 14 16 K14 73 88 108 135 165 205 235 3
A K12 18 205 24.5 35 43 53.5 59 K15 15 15 15 15 15 20 25 @)
K13 o5 8 3 45 50 70 30 K16 90 100 115 130 155 195 225
K17 ®l4 ®18 22 ®32 $40 50 ®55
K14 73 88 108 135 165 205 235
/ K18 5 6 6 10 12 14 16 /
\ KI5 15 15 15 5 15 20 25 K19 163 208 24.8 353 433 53.8 59.3 \
K16 90 100 115 130 155 195 225 K20 3 35 40 50 55 65 30
A N
% %
3 0
=1 =1
K‘ WWW.zZsmy.cc www.mayimotor.com K‘



LIAIN LTAIN TAN JdAN HdAIN L44dAIN  LT4dAN TdAIN

HAN

\gx

§ MYCERFUTRRENARER <

% MYC Series Servo Planetary Gearbox Standard Size

2XL-K8 K

/7

- g
N W

[o]

K3q7

i ﬂ i
Eﬁ\ 4?& ( q =l
N % K10 =
K Kb Ko
£ KKQ . 2Xk-K8
| 2XL-K8
5 £
g,
E@—ﬁ:{; *\7@3

©,

Kih
Kikg7

Kb

MY070C MY090C MY110C MY140C MY170C MY210C MY240C
K1 75 90 110 140 170 210 240
K2 145 15 15 15 15 20 25
K3 ®73 88 $108 $135 $165 $205 $235
K4 54 62 72 87 102 127 147
K5 »16 $22 ®25 d44 $50 62 68
K6 14 18 18 24 26 29 29
K7 ®16 $18 $22 $32 $40 $50 ®55
K8 M6X8 M6X15 M8X10 M10X13 M12X20 M16X25 M16X35
K9 60 72 88 110 134 170 190
K10 M5X12.5 M5X12.5 M8X19 M12X28 M16X36 M16X36 M16X36
K11 5 6 6 10 12 14 16
K12 18 205 245 35 43 535 59
K13 25 28 32 45 50 70 80
K14 73 88 108 135 165 205 235
K15 15 15 15 15 15 20 25
K16 90 100 115 130 155 195 225
K17 »14 »18 22 $32 40 $50 ®55
K18 41 50 50 80 90 110 115
K19 185 23 23 295 315 345 345
K20 32 35 40 50 55 65 80

[ 23 N

Www.zsmy.cc

h '}

HE3P 1R ER et

MAINTANCE INSTRUCTIONS

ROENAE AT ERRE RN RE, W T RAR R ERAH
B BT iR,
— RIS T, W T RKEAES TERBIR, 12551720000/ \ B S fRF B ik
HomBs, Bk A EYBGEN, EEIER Z BTN EEERER R, 5E8
AT R, RIBEHRIEURE B EBREFREN L E. 1R IBAYE
BT RRTE2WABR, WNIZANREFrENDBIESNE, B RidiE
B WNFEHBE AR R, HEN 2 EBREHITHRN E R HIE AR
MERNARE=EL/S3NE, INFZRIRAIE G0, BRZTEEBIA
Ep==iERy1/2.
R mEE A D X ABEFEHE(TCR) 2, ZHENER—RIUES
SRR R E R BBV IR XY T8 B fE R YRR, £ BRI Z B 7R L
CEZHIFRN, FITE TU BB IREHE, BB E R R B AR
HEER R B,
TR, SRIUEREEAET0°C S~ ERNEBRRENRIIN(FIEME
B, B RE, BHFRIEG, 75 P45,
RARNEGENERAEFANEHE, WARNHNEE B RN L
BRI MOABRIER, ERME ™ 18H1To

Gearboxes oil quality should be checked regularly during use, timely
replacement of for impurities or deterioration grease required.

Under normal circumstances, gearboxes for long-term continuous work,
should be replaced with new grease in accordance with the running 20000
hours or every other year. Intermittent gearboxes should be checked the grease
before re-operation. Relubrication can be completely by professional
manufacturers. Teh re-lubrication intervals and quantities should be decided
according to the functioning. If the old grease can not be completely removed,
accordingly limit the number of grease to avoid lubrication, if re-lubrication
cycle interval is longer, recommended to completely replace ann the
grease.grease dosage is preferably 1/3 of the internal space, if the input speed
is low may be appropriate to increase. But can not exceed a maximum of 1/2 of
the internal space.

The output of the rotary part(tc) use skeleton oil seal, the seals replacement
generally based on whether the grease leaks. Gearboxes for intermittent use,
also should be check the seal before re-operation, determine whether there is
necessary for replacement of seals, the seals can be replaced only need to
remove the seal seat.

At work when the temperature rise of the oil temperature exceeds90°c
orproduce abnormal phenomena such as noise, stop using it and check the
cause. The fault must be removed before they are allowwed to continue
operation.

Operation and inspection should be carefully recorded. The above provisions
should be strictly enforced.

www.mayimotor.com

HAN LIAIN LTAN TAN J4dAN HdAIW LddAIN  LT4dAN TdAN

JAN

pir e 7S S



ERRSS5REEER

ZE%, REBWBHNRA "BOBTFEN, MIRERIRAROMEN" NEERE, —HEOTHENNEFIRRSES.
RERBERRSE, TBAREERSZIE, RREOEIRE., RIEEREHE TRINEHESMRARRS.
ﬁgﬁ%ﬂﬁmmmF%ﬁEﬂEmF%,&Fﬁﬂm#ﬁé;ﬁm&%ﬂﬁm%mF%ﬁ%&&N%%m\§¢\§E%%,Tﬁﬂﬁ
REFBEE,

=FREH
oAATHEN R (BHFRERWE, BN~RFE18TA) BHEZRE, — AN, LIS, HWoILUEEHE, RIEHRE,
oMBIMARANS, RATRUEME LIRS, NERGEREPINEREREANEREGNEER, RASATEMEMER, L]

E%IEWW%E@%%ER%%K% R, RNVBRSIRMDENEHE, SAENEEERFRHELATEE, LEFELERTR
RIE,

#SHE
oTEEIBFAXEEEARSHERE, RNOBARARBE2ANTREIZNG, EEBERT/NIERRBERE (8128) .

oEFFRMHETIRD, ATRATEBENE, ARKMAFER, RATDERERMESNIAHEMHER.
o TRIBINTE, ARBXERAARSITIRRENEFSRET), BEERTREAREIRY, AEMETRENERNERRAE,

RIE PRI

o AR . BRHEAFRYNES, NEBRERRERAHBRIE.
CERARESRTNN (MHE. XR) SREERNMBELRIE,
o REVFIEE BN LR,

B ESMERRE.
o RRHRAE,

FRERiE

ABRBERRSH, ERRFERRSTE, BRAGEETH., RIBHBETREMEHEMERES . BE, RNORATREID
BAREHN LR, MBS @RIEE.

BNV EF MG : http:/www.zsmy.cc LIREEFPRSER, BREBE+HNAGTIVRASR, HEEREINELEZFPRS

REHH

AERNERAERNTRAE. BASHENESE, ATENTRASARUEEAEE, RITREEMRF, BRBTEAN.



	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17
	页 18

